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QUESTION 1
What is FlexArray?

A. FlexArray is a new archival software that helps customers save important archive files for less money and with more
security.

B. Flex Array is new tool to manage software updates and to achieve overall assurance.
C. FlexArray is software that enables the FAS product line to act as both FAS and V-Series on the same system.
D. FlexArray is a marketing change to the V-Series solution.

Correct Answer: D

QUESTION 2

Which NetApp storage-efficiency technology enables storage to be allocated for current capacity instead of for future
needs?

A. FlexClone software
B. Deduplication

C. Compression

D. Flexible volumes

Correct Answer: D

QUESTION 3

If an aggregate contains multiple RAID DP groups, three disks in the same aggregate and it can fall
without data loss.

A. Is not currently being accessed
B. Is in different file systems

C. Is in different RAID groups

D. Is in different spare pools

Correct Answer: C

QUESTION 4

If the security style is set to UNIX, CIFS client file access is determined by
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A.NT ACLs

B. the mapped UNIX UID/GID of the CIFS client and the UNIX file permissions

C. the last client to set permissions

D. This is not allowed: A CIFS client cannot access files in a path set to a security style of UNIX

Correct Answer: B

QUESTION 5

In Data ONTAP the root user is exempt from these two quotas: . (Choose two.)
A. group quotas

B. user quotas

C. tree quotas

D. root quotas

E. file quotas

Correct Answer:. AB
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